Vereinfachung von Exponentenausdriicken (2

' X X,

Variablen)
Name: Datum: Ergebnis:
2 x yz(xz y y(—12))4 210 x y5(x4 % y(—3))(—2)
7 x y4x5(x(_1))3x(_1)(y2)(_1) 1 x y4x(—5)(x(—3))(—3)x(—3)(y(—1))4
A % y(—6) (x4 % y4 )(—2) 7 x )/2x6 (x4)6x2 (y(—Z))z
5 x y(—l)(x4)(—1)
79 x y(—6)(x(—2) x y(—2) )5 70 x y6(x(—3) x y5)(—2)
3 x y(—3) (x4)3
26 x 190 y(—s))4 7 x y(—s) o2 % )P )(—2)

4% DD
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Vereinfachung von Exponentenausdriicken (2
Variablen)

Name
2 x yz(xz ><y( 12))4
xlO
)%

4.X5 > y(—6) (x4 x y4 )(—2)
53 DA D

4x

5y13

3 x y(—3)(x4)3

7

3x31y13

-3)\4
( ))
2x18

y6

20 % 007 Xy

Datum:

26 x Pt x D

2y11
x3

1 x y4 x(—5)(x(—3))(—3) x(—3)(y(—1))4
X

3) x5\ D)
712
y4

7x° ><y(x

S
4 x y(D(x(72))2

57

4y6
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Ergebnis:
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